DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

Name:
DIVISION Time: Score: y—
21) 424 = (0.8 = 256) —36970 = 5 =
2412) 460 = 5 = 27 432.99 + 0.9 =

28 35.8 +0.04 =

249 —6606.6 = 0.1 =

25) —=2.737T + 7 =

216) —192.15 + 0.09 =

21 —33780 =+ 10 =

28) —4.227 +0.01 =

2 253.80 + 7 =

2500 —17.856 — 0.04 =

20 —60088 + 8 =

252) 350.5 + 10 =

) —T44.3 + 9 =

251 84.303 + 0.9 =

255) —25.360 -1 =

Mathematics: Division - Level 6 - Horizontal - Set 4
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10

8.199 =+ 0.03 =

27.08 =10 =

—2.904 = 0.008 =

41.888 + 0.007 =

—65.84 =1 =

33.873 + 0.07 =

—4.739 = 0.1 =

—52.02 +0.6 =

—94.08 + 0.6 =

—38043 + 9 =

3.68 +0.02 =

—3.104 + 0.08 =

12481 + 7 =
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